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Open the workbook FORECAST RESULTS
Click in cell B1 then name the cell target_growth
In C3:C15, enter a formula to calculate the target for 2004 (2003's result increased by target growth)
From the Tools menu, select  Scenarios...
Click Add...
Enter the Scenario name: of Low Growth
In Changing cells:, type target_growth
Click OK
Enter the value as 0.05 and click Add
Repeat to add Medium and High Growth scenarios of 0.01 and 0.02 respectively, clicking OK after you add a value for High Growth
From the Scenario Manager, select High Growth and click Show
Click Edit then change the value for High Growth to 0.15
Click the Summary button
For the Report type, select Scenario summary
For Result cells, select C15
Click OK
View the summary sheet
Save and close the workbook


